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1ST ROUND, SOLUTIONS 

Problem 1 (Lithuania) 

Self destructing paper (6 points) 
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010123.1][H10656.5][H10123.1][H 1912253 =⋅−⋅−⋅+ −+−+−+  

[H+] = 5.01·10-7 M pH = 6.30 

[OH-] = 2.00·10-8 M 

[SO4
2-] = 7.54·10-7 M 

[Al(H2O)6]3+ = 2.15·10-8 M 

[Al(H2O)5(OH)]2+ = 9.84·10-7 M 

 

Problem 2 (Latvia) 

Searching for secrets of Superman (10 points) 

1. Radioactive decays are 1st order reactions, so: 

kt
C
C

=0ln  

If t = t(half‐life) = 250 000 years, then C = 0,5 C0.  
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2500002ln
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k
                0.5 points 

2. If C = 0,1 C0, then: 
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564.0:0196.0:197.0:166.0:211.0:0998.0:0618.0

≈
==

==
 

Pu6Ta10Xe22Pm17(Al2)20Hg2H58 
Sum = 15.08 + 18.06 + 27.71 + 24.02 + 10.62 + 3.94 + 0.57 = 100  
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It is not possible mineral formula because it does not contain proper amount of anions (such 
as oxygen which is not in this mineral).           0.5 + 0.5 = 1 point 

4. Fluoride  ions can replace hydroxide  ions  in LiNaSiB3O7(OH). Similar compounds  in nature are 
apatite and fluoroapatite. [http://en.wikipedia.org/wiki/Apatite]      0.5 points 

5. Volume of monoclinic cell is equal to area of face between a and b powers height of cell. 

 
V = a * b * c * sin β = 6.76421 * 13.8047 * 7.86951 * sin 124.0895 = 608.566 Å3        0.5 points 
Or you can use freeware Winplotr to calculate cell volumes (it also works for triclinic cells) and 
many other data: 

 
608.566 Å3 = 608.566 * 10‐30 m3 = 608.566 * 10‐30 * 106  cm3 = 6.0856 * 10‐22 cm3  
If we count correctly green colored  lithium atoms and blue colored sodium atoms,  then we 
can find that Z (number of molecules in unit cell) is 4.  
M[LiNaSiB3O7(OH)] = 6.94 + 22.99 + 28.09 + 3 * 10.81 + 8 * 16.00  + 1.01 = 219.46 g/mol  
Mass of one “molecule”: 
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6. Bragg equation:  

 
where: 

• n is an integer determined by the order given (in this problem it is 1), 
• λ is the wavelength of X‐rays, and moving electrons, protons and neutrons (λ = 

0.15418 nm = 1.5418 Å), 
• d is the spacing between the planes in the atomic lattice, and 
• θ is the angle between the incident ray and the scattering planes. 

So from this equation: 
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d‐spacing (Å)  Relative intensity 2‐theta, o 
4.666  62 19,02 
3.716  39 23,95 
3.180  82 28,06 
3.152  74 28,31 
3.027  40 29,51 
2.946  100 30,34 
2.252  38  40,04 

0.5 points 
Jadarite PXRD pattern  (found somewhere  in  literature; Bruker AXS presentation, Riga, 2009) 
and  it  corresponds  to  results  calculated.  In  all  calculated  positions we  can  find  diffraction 
signals.  

 
7. None of those diffraction patterns refers to jadarite. (0.5 points) 
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9. Firstly we have to calculate amount of water in given hydrate. Cu(UO2)2(PO4)2∙(8‐12)H2O 
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Molar mass calculations: 

Mr  n  Mr * n 

63.55  1  63.55 

238.03  2  476.06 
16  12  192 

30.97  2  61.94 
   sum  793.55 
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+=
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So molar mass of hydrated compound Cu(UO2)2(PO4)2∙(11.4)H2O is: 
M = 793.55 + 11.4 * 18 = 999 g/mol 

n[Cu(UO2)2(PO4)2∙(11.4)H2O] =  005003.0
4.999

00.5
==

M
m

 mol ≈ 0.005 mol 

N0 = NA * n = 6.02 * 10
23 * 0.005 * 2= 6.0 * 1021 atoms  (corrected later)  1 point 

10. Formation of 234‐Th and 234‐Pa can be assigned as negligible and it can be assumed that 238‐
U decays to form 234‐U with half life of 4.468 * 109 years. 

UNk
dt

UdN
t

UN
2380

238238 )()(
⋅−=≈

Δ
Δ

 

UU NkNk
dt

Ud
t

UN
23412380

234234 )()(
⋅−⋅=≈

Δ
Δ

 

ThU NkNk
dt

Thd
t
ThN

23022341

230230 )()(
⋅−⋅=≈

Δ
Δ

 

RaTh NkNk
dt

Rad
t
RaN

22632302

226226 )()(
⋅−⋅=≈

Δ
Δ

 

RaNk
dt

Rnd
t
RnN

2263

222222 )()(
⋅=≈

Δ
Δ

 

At the beginning:   N0(
238U) = 0.992742 * 3.0 * 1021 = 2.99 * 1021 atoms 

      N0(
234U) = 0.000054 * 3.0 * 1021 = 1.63 * 1017 atoms 

      N0(
230Th) = 0 

      N0(
226Ra) = 0 

      N0(
222Rn) = 0 
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where Δt is as small as possible.  

)()()( 238238238 UNUNUN tatttat Δ+=Δ+  
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for rest particles similar equations can be obtained.       1 point 

Inputting  them  into MS Excel worksheet we can obtain  results  that are  shown below. MS Excel 
function =max(..) is used to find maximum value of 230‐Th in 1 million years. It has been found that 
after  one million  years  it  is  5.03895  *  1016  atoms  (maximum  value  for  that  time)  and  value  of 
5.04274*1016 years can be achieved in 1.974 million years.  

Correct: 1.00855*1017 atoms in 1.974 million years. 

 
… 

 
… 

 
11. See answer between graph.       0.5 points 
12. Function extremes  such as maximum points can be determined  from  function derivative.  It 

must be equal to zero. 
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          1.5 points 
13. This big difference can be explained by fact that in calculation of tmax2 formation of 234U (from 

238U) has not taken  into account, but  in Excel file  it  is  included.  If we exclude this from Excel 
file (simply set constant k0 = 0), then we obtain same result, see figure bellow.  

 
                      0.5 points 
 

Problem 3 (Lithuania) 

Push those arrows (8 points) 

1.   
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2. Generation of free carbocation

 
Acylation 

O

H

O

O  
3. Reagents 

 
Mechanism of alkylation as in part 1. 
 
Side carbocation formation: 

 
These carbocations are able to further react with the bezene thus producing side products. 
 
Please note, that there was an error in this question. Those students, who provided even slightly logical solutions, where awarded with marks. 
We are sorry for the inconvenience. 

 
4.  

 
5.   
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